1 IDA K 5 9,45 10.02.2014 1,8900
00-11-000003 1 DA K 5 9,40 11.02.2014 1,8800
00-11-000003 1 IDA 5 1000 1810,00 12.02.2014 1,8100
00-11-000003 1 IDA K 2 3,76 12.02.2014 1,8800
00-11-000003 2 IDA K 103 183,49 13.02.2014 1,7815
00-11-000003 1 IDA S 1000 1800,00 14.02.2014 1,8000




L1-20-¥10C Wy €pE001 L1T0P10T wpy [foyesuen ouepe3azididwan:)y/a1y

01918 € ‘oNau J5oLEA 000 : efzmoig 01918 € : 0N 95OMEM ST1 T 1osfesien 8qzor |

T EEEED D19 E 000 s WAZVY ZIONALYArd | 00zl

NTd Jwooos 1| owa 00008 1 o'l 000 [ N | S| #00 } 01000M00005t0Y] £LLL19S00SE FLOTTUG! | +10TZOPT 855 £0000K-1 100 ZI00ALYQAITE | 0071 | VST |[ASUITHYIN WOd|
Nid |ooist] e 00018 1 ¥l 000 [ K| S| oo | 090000000€roN] S0SL196009€ FLTTOLI | Fl0TTOTE 0855 €00000-1 100 TI0004LValTd | 00TL | YSWAI |IRSUTTIVIN NOT
A 01907 st X . WAZVY TI0WALVArd | 0021

N1d |ooee | oo BHLT 8L 00t N | 31 #00 | 0E0oo0onn0oror] T09L (95009€ FIOTTOSI]| FloTTOEL 185s E00000-1 [0 ZI000ALVOFTd | 0021 | ¥SWaT |MS8E TV Wod|
N febs | wo 'S EFl £ N | 3| w00 | 010000000+ 654 19S009E FIOTTOAL| FIOTTOEL 1855 £00000-E1-00 ZI000ALYVOTTd | 0GT1 | VSWAI | DISHE TNV NOg
NI [pee | 000 9e Y T N | 3] 100 | 01000000000E50K $9EL 10S009E FIOTTOLI | FI0TT0ZL 08es E00000- [0 ZIOWALVAITd | 0021 | VSWQI |PSYETYVIN WO
N1 Jwe | ooa e T s N | | o0 | otoocosesoozror O0ZLLISO09E FIOTTOPL| FIOTTOLL 6L5§ £00000-1 10 TI000ALVAIT | 00CL | VSWQI | IMSHSTAVIN WOQ
N1 ke | e P 6%l < N | 3| P00 | 0100000000150} LI0LI9GI9E FIOTTOEL | vloTTrol 8L5S S00000-1 11 ZIGOUALVAITd | 00ZL | VEWGT |IHSUSTIVA NOG
mnges] :....ﬁ-..k sfamoag opnag FoLEM sy 9011 ..H_m mw___ ..H_% WeruRlL IN wm0Z IN Tl |-amay, g _w.mm TopumpRR AN NISI sy [gu e Sy

PT0Z'T0°FL OP $10T'T0°0T PO YIAIEBMEZ
IFOMVSNVUL AINHIMVLSHZ

1090 LAE(ZIG) ¥ ‘00 90 L6E (TI0YPL
LYAUAY AR “MONET TH)- [
VST PIMAABI Wog

[Jo 1 98eg



